BcTynuTenibHbIe U KOHTPO/IbHO-NEpeBoAHble HopMaTuBbl Mo OPI u CPI1 gna yyawmxea MBY «CnopTmnBHas

Ne

HanmeHoBaHKne
yrpaxXHeHNs

UenHOYHbIN 6er
3x1Om (cek)
IMpbKOK B
LNMHY C MecTa
bpocok
HabMBHOro Msuya
13- 3a r0/0BbI
1kr
HaknoH Bnepef
CTOS Ha
BO3BbILUEHHOCTY
BbIKpyT npsMbIX
pYK Bhepes,
LMprHa
O6si3aTenbHas
TEXHUYeCcKas
nporpaMmMa
25m B/CTUNb
25M crnnHa
100M KOMMNeKc
50m B/CTUNb
50m cnuHa
50m 6pacc
100m KOMMneKc
100m B/cTUNb
100m cnnHa
100wmbaTTeptnaii
200M Komnnekc

AnnHa
CKOJIbXXEeHUA
Bpewms
CKOJIbXXeHuA

YT1Bepxaato:
[Aunpektop MBY
Ko/ia Mo naBaHuio
«HOHOCTb»

5. PemmsoB A A

«HOHOCTb»

HauanbHoi
NOAroTOBKM
1
7 net.

CrnopTusHo-
03/10pOBUTE/IbHASA

7-17 net

10,5 cek. n
MEHbLLEe
105 cm n
60nblue

3,5Mm

Paspsag  HauvanbHol
NoAroTOBKM
2

111 toH. 8 net
10,3 cek. n
MEHbLLE
115¢cm mn

60bLUe

3,7m

BospacTHble rpynnbl (4eBYLLKN)

HauanbHoi
NoAroTOBKU
3

9 net | tOH.

Pa3paa

Il toH.
9,5 cek. n
MeHbLLe
135 cm n
60/bLLe

3,9m

| HOH.

Paspsig  TPEHWPOBOYHBIIA

aTtan 1
10-11 net
9,3 cek. n
MeHbLLEe
160 cm 1

60/bLUe

4.0m

60cm

8m

«HKOHOCTbY ===/ =mmemcmccmcemcemeemee

Ljijp p 5

LLI-50%
11-50%

11-12 net 11-100%
1-50%
9,0 cek. n

MEHbLLE

180 cm 1

6onbLle

4,1m

50cm



